N = 43

43 circles in a 1x0.70000 rectangl e

N = 45

45 circles in a 1x0.70000 rectangl e
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N = 44

44 circles in a 1x0.70000 rectangl e

radius = 0.063216340384 density = 0.807092010132 0 g seer
tio = 11.073086416392 contacts = 91

N = 47

47 circles in a 1x0.70000 rectangl e

us = 0.061433993094 density = 0.796099185783 0 g seer
0 = 11.394343176212 contacts = 93
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N = 46

46 circles in a 1x0.70000 rectangl e
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N = 48

48 circles in a 1x0.70000 rectangl e

radius = 0.060545277329  density = 0.789684503622 0 g seer
tio = 11.561595402344 contacts = 91



